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General Instructions:

()
(i)

The question paper has 31 questions in all. All questions are compulsory.

Questions from serial number 1 to 10 are Multiple Choice Questions. Each question
carries 1 mark.

Questions from serial number 11 to 22 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 23 to 30 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question number 31 is a map question of 4 marks from Geography only. After

completion, attach the map inside your answer book.
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‘T faafe st afst’ e gEaes fohed ot o ? 1

(@)  wE (b) dAM®d (o) AR d) sl e TS

Who wrote the book ‘The spirit of the laws’ ?

(@) Rousseau (b) Locke

(c) Montesquieu (d) Olympe de Gouges

WiE % 1791 H o1 HiG9M % STHR W 9isha TR’ fohwg el S o ? 1

(a)  hed 25 Y hl Y Y SR o &Y |

(b)  HefereR ST STl ol o |

() 5= S gra faifea foram S o |

(d) 5= AaIfeeR e o)

Based on the French Constitution of 1791, who were known as ‘active citizens’ ?
(@) Only men above 25 years of age.

(b) The highest bracket of tax payers.
() Those who were elected by the people.
(

d) Those who were entitled to vote.
M 1 BT TS T WRA IR Ficient Sl Tk T gog FA§ ? 1
(a) @I i @rel (b) R i @IS
(© = F T (d)  #R™ e
Sri Lanka is separated from India by which narrow channel of sea ?
(@) Gulf of Khambat (b) Gulf of mannar
() Gulf of Kachch (d) Shri Ram Samudram
HaeTs], Tel, s, =16 99 Sierm, Frferiad o 9 e @t gemes el €2 1
(@) WA b) g e
(© TP (d)  TETeRT

The Satluj, the Ravi, the Beas, the Chennab and the Jhelum are tributaries of which
of the following rivers ?

(@) The Ganga river (b) The Indus river

() The Brahmaputra river (d) The Godavari river

faet # 11 faamsr 1973 =1, A T Yo ot wrfamw! &1 A9 fre fwan 2 1
(@) ATl foER (b)  GTAER RS

)  oTcee! el (d) o SR

Who led the military coup on 11 September 1973 in Chile ?

(@) Augusto Pinochet (b) Salvador Allende

(c) Alberto Bachelet (d) Lech Walesa

foreht ot grzrerel T § o |9 9 Ygel WA o YA 1 e A o1 ? 1
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10.

(@) T sk gfee (b) Wil JALE SRty Tl
(0  wfersfe (d) kT gS i

What was the name of the first independent trade union formed in any of the
communist regimes ?

(@) Shipyard Workers Union (b) Polish United Workers Party

() Solidarity (d) Workers Trade Union

TH T H P F7 @I S ST F U < F A weelt o o weie 1
AR Brell @ ?

(@ o e T b) TS T

(€ I qE T (d)  ARAAR TA

When people have the supreme right to make decision in the government of their
country, it is called a :

(@) Secular state (b) Republican state

(c) Sovereign state (d) Democratic state

smfTer i # frafafaa # 9 g 1w =&t e smar ? 1
(@)  THEE (b)  hiC TRTH

() S (d =&

Which of the following is not used in modern farming ?

(@) Pumpsets (b) Pesticides

() Fertilizers (d) Ploughs

S |1 &5 1!l Felifeeh TSR G HLa1 g 2 1
() Wi & OIRESIREREC

() T & d)  HESTR &

Which is the most labour absorbing sector of economy ?

(@) Primary sector (b) Secondary sector

(c) Tertiary sector (d) Public sector

frfated 9 § s o fafadt mafhen &= 3 76 o 2 1
(@ P (b) @t

()  ©IH ¥ qeeR fhrer (d) S

Which of the following is not a primary activity ?

(@) Agriculture (b) Mining

(@) Quarrying (d) Banking
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11

11

12

12

13.

14.

15.

16.

17.

18.

19.

IS IdTeat o SeRare! foha 1 TR & SHT e & Yehan 9 s 9 2 Tom wifsu 1Y +

In which three ways were liberals of 19t century different from radicals of that

period ? Explain.
37erar /OR
ST ARMGT Sl STHHAT ahi STEET T FT GHTE UST 7 SAREAT HiTTT |

1¥2=3

What was the impact of the ‘Great Economic Crisis” on the economy of Germany ?

Explain.

T hif=1 < foed o o7 <21 W 98 AUS Y9 Sl GUM hifaT |

Describe the global influence of the Russian revolution on other countries of
world.

31eraT JOR
st ST H agEl A R geeRr waifyes difed w2 smen wifsa

How did the Jews remain the “worst sufferers in the Nazi Germany’. Explain.

o TR § 9Ra &t g9 feafq & T &1 AT hifoa |

Assess the significance of the central location of India in the Indian Ocean.

‘T’ $IR TR 11T H Sia T9E St
Distinguish between Khadar and Bhangar soils.

Wl it A1 YhR i TG T oot HIfg | 39 TTaal 9§ a1 J9TS el © 2

Mention three types of plate movements. What is the influence of these

movements ?

AT shl A i el SHRON skl TR Hifs |

Analyze the causes that result into river pollution.

T st Bf7er aFTeTET 1 37 foR YRR g3 2 Sme hifs |

How did Pinochet's military dictatorship come to an end ? Explain.

= it Alhdieh STILT Tl Teh HE! llehasl 1 Tel el ST Tehdl 7 TY hifsy |

Why can't the democratic set up in China be called a true democracy ? Explain.

Y HITST foh T A =1 M99 2 29 & o oy ¢ ?

the

1% +
1%2=3

(O8]

1+2=3
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20.

21.

22,

23.

24.

25

25

26.

27.

Explain the term Apartheid. What were its implications ?

9t & TH & ThS W FY TR Tk A Afus wEed Y K1 ST Gehdl T2 =R
HIfST |

How can one grow more than one crop on the same piece of land? Explain.

AHE U &1 GaqH G918 1 THE Sl € 2 T8 hifsg |

Why is human resource considered to be the best resource? Explain.

I fRT YR Tk fashfgd <91 =1 T3 2 S hifs |

How did Japan become a developed country ? Explain.

‘ SToREdl’ ISt H WiE F Heg o Wl A gL @ Bl I A H ®F o 7 3 & =R
F1 A ?

‘The eighteenth century France witnessed the emergence of the middle class”. Who
were they and what were their ideas ?

TR Sh1fT oAt fowa T &R 9o 91?7 39 &1 RdEl o a1 fafee s swifdeit Wi o
ST gvIfad ga |

What was the impact of French Revolution on the world ? Name two Indians who
were very much influenced by the revolutionary France.

e A1 T 3 & A TN % fa=R 98 s

Explain the ideas of Karl Marx and his communist society.

3191€T /OR
AUl TR bl Aiehfyd S o fofq 1sit s 3 fohd qepr oo e Hifean o
ST e 2

How was language and media used by Nazi regime to popularize their
ideology ?

319 39 Y W hyl qoh HeHd ¢ o UThideh AN Teh SHY o I B © 2 TI8 hife |

How far do you agree with the statement that all physiographic regions
complement each other? Explain.

‘9 9N 1 dlichal g1 fe@rE <d1 §, €1 Gohdl ® T o8 T 3Teyl dihas 1 @11 5|

(O8]

1+4=5

3+2=5

5x1=5

5x1=5

5x1=5
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28.

29.

30.

31.

FHoH Hi ¥ & AT FE 919 ITFHR Toh SIToIT |

The kind of democracy we see, may not be the ideal form of government'. Give any
tfive arguments to support the statement.

BHR Hfarer o 01 # AMeH <4 91t shiRepl bl Y S =T 5

List the factors that contributed to the making of our constitution.

TR & fFOH T o8 H g YhR 6 BH Y SMaAd ¢ 2 SR HifoT | 5

Why are farmers of Palampur able to grow different crops in a year ? Explain.

SRS & o741 S1f99g € 7 I8 s Stefoaeren &l ol Yyifad il 8 2 1+4=5

What is unemployment ? How does it affect our economy ?

()

fou gu wRa & Tsrifas TEmmtas § (A) $iR (B) R 31 @iatr fafea frg e 2
< €1 T SRR o STER W ST &I ol T Y A | fafed Wensti
Seh Tl W e :

(A)  TH IEfgdE T

(B) Wk Toid el

Two features (A) and (B) are shown on the political outline map of India.
Identify these features with the help of following information and write
their correct names on the lines marked in the map.

(A)  Peninsular River
(B) A mountain range.

sl gHfes W € frEfefiEa o Suged Gehdl gRI SWIRY U S WEl W 2+2=4
fafay

(© TR werfeAt

(D)  ¥Rd & H&A Y97 &l (0T SR

Locate and Label the following on the same political outline map of India.
(©  Garo Hills
(D)  Southernmost point of mainland of India.

: Freafafaa a9 o givantaa uftenediai o fog u9 ®Hie 31 & WHF W

T
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g =TS T <fRqor 7 S AW W S S ?

ret # feera feHera qdd i gaiE Ad hiA 2
IRA o A YU 1 Sfeqoram foig e wn e ?

ek TGN h1 ST fohaT1 © 2

: The following questions are for the visually impaired candidates only in
lieu of Q. No.31.

Which river is known an Dakshinganga ?

Name the highest peak of the Himalayas in Nepal.

Which is the Southernmost point of mainland of India ?

What is the latitude of Tropic of Cancer ?
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